# RESOLUTION NO. 2025-109 STATE AID CHANGE ORDER #2 FINAL TO CONTRACT FOR FY 2024 NJDOT TRUST FUND RESURFACING OF BROAD STREET BLACK ROCK ENTERPRISES, LLC 1316 ENGLISHTOWN ROAD, OLD BRIDGE, NJ 08857

**WHEREAS**, the Township Council authorized the Township Engineer, Remington & Vernick Engineers to prepare plans, specifications and obtain bids for the FY 2024 NJDOT Trust Fund Resurfacing of Broad Street; and

WHEREAS, Remington & Vernick Engineers received the bids on September 12, 2024; and

**WHEREAS**, the Township Engineer, has recommended award of the contract to the lowest most responsible bid for FY 2024 NJDOT Trust Fund Resurfacing of Broad Street to: Black Rock Enterprises, LLC, 1316 Englishtown Road, Old Bridge, NJ 08857; and

WHEREAS, the Township Engineer recommends State Aid Change Order #2 Final, a Reduction in the amount of (\$28,502.50) (Schedule A); and

**WHEREAS**, the Council of the Township of Florence accepts the recommendation of the Township Engineer.

\*\*\*\*\*\*

Certification of Funds by CFO:

Account # Amount

**General Capital** 

Ordinance No. 2022-03 \$16,179.10

**Grant Fund** 

FY 2024 NJDOT Trust Fund \$266,695.35

Change Order #1 (\$ 28,502.50)

Amended Contract Amount \$238,192.85

Michelle Chiemiego Municipal Treasurer

I, NANCY L. ERLSTON, CLERK of the Township of Florence, County of Burlington, State of New Jersey, do hereby certify that the certification of available funds has been provided to the governing body and that the foregoing is a true copy of the Resolution approved by Township Council at their May 21, 2025 meeting.

Nancy L. Erlston, RMC Township Clerk

Note: This Resolution authorizes a Change Order to the Contract for 2024 NJDOT Trust Fund Resurfacing of Broad Street..



RVE HQ: 2059 Springdale Road Cherry Hill, NJ 08003 O: (856) 795-9595 F: (856) 795-1882

May 12, 2025 REVISED FROM May 7, 2025

Mr. Thomas A. Sahol, Township Administrator Township of Florence 711 Broad Street Florence, New Jersey 08518

Re: Township of Florence

FY' 2024 NJDOT Trust Fund Resurfacing of Broad Street

State Aid Change Order #1 and State Aid Change Order #2 Final REVISED

RVE #0315 T 008

Dear Mr. Sahol:

Enclosed please find Forms SA-1, "State Change Order #1", signed by Black Rock Enterprises LLC, and our office, representing the additional striping and HMA surface course added to the project, and "State Change Order #2 Final", signed by Black Rock Enterprises LLC and our office representing the final adjustment of as-built quantities and contract costs, for your review and approval, and is summarized below:

•	Original Contract Amount:		\$255,539.10
•	State Aid Change Order #1	+	\$ 11,156.25
•	State Aid Change Order #2 Final	-	\$ 28,502.85
•	Final Contract Amount:		\$238,192.50

Please have both Change Order #1 and Change Order #2 Final, signed on the line above "Presiding Officer" in blue ink and email a color copy to Kathy Niemann of our offices, Kathleen. Niemann@rve.com, for further processing by the State.

If you should have any questions, please feel free to contact me.

Sincerely,

**REMINGTON & VERNICK ENGINEERS** 

Mark Lodato, P.E.

Mark foldst

Project Manager / Engineer

ML/kn

cc:

Michelle Chiemiego, CFO

Nancy L. Erlston, Clerk

Ted Lovenduski, Zoning Officer

Lou Rodia, RVE

Form SA-1 11/2002

#### NEW JERSEY DEPARTMENT OF TRANSPORTATION

## STATE AID PROJECTS

#### **CHANGE ORDER NUMBER - 1**

#### Division of Local Aid and Economic Development

Project Municipality FY' 2024 NJDOT TRUST FUND RESURFACING OF BROAD STREET

TOWNSHIP OF FLORENCE

County

BURLINGTON

Location and Reason for Change (Attach additional sheets if required)

Contractor

(Engineer)

(Presiding Officer)

(Contractor)

**BLACK ROCK ENTERPRISES LLC** 

In accordance with the project Supplementary Specification, the following are changes in the contract.

A) ADDITIONAL STRIPING AND HMA SURFACE COURSE ADDED. Date of Change Order: APRIL 9, 2025 Description Item No. Quantity (+/-) Unit Price Amount EXTRAS: HOT MIX ASPHALT 9.5M64 SURFACE 10E COURSE, 2" THICK 103.68 TON \$100.00 \$10,368.00 20E 460 LF \$0.94 \$432.40 TRAFFIC STRIPES, 4" 21E TRAFFIC MARKINGS LINES, 6" 154 LF \$1.40 \$215.60 TRAFFIC MARKINGS LINES 24" 25 LF \$5.61 \$140.25 22E \$11,156.25 **REDUCTIONS:** \$0.00 SUPPLEMENTALS: \$0.00 **Amount of Original Contract** \$255,539.10 Extra \$11,156.25 Supplemental \$0.00 Reduction Adjusted Amount Based on Change \$11,156.25 \$266,695.35 **Total Change** Order #1 4.37% % Change in Contract (+) Increase 5/12/2025 Approved: ..... \*\*\*\*\*\*\*\*\*\*\*\*\*\*\*\*\*

(Date)

(Date)

(Date)

Manager

District 4 - Local Aid

(Date)

Form SA-1 11/2002

# NEW JERSEY DEPARTMENT OF TRANSPORTATION STATE AID PROJECTS

#### **CHANGE ORDER NUMBER - 2 FINAL**

#### Division of Local Aid and Economic Development

Project FY' 2024 NJDOT TRUST FUND RESURFACING OF BROAD STREET

Municipality

TOWNSHIP OF FLORENCE

County Contractor BURLINGTON
BLACK ROCK ENTERPRISES LLC

In accordance with the project Supplementary Specification, the following are changes in the contract.

Location and Reason for Change (Attach additional sheets if required)-

A) FINAL ADJUSTMENT OF ASBUILT QUANTITIES

Date of Change Order: MAY 12, 2025

Item No. EXTRAS:	<u>Description</u>	Quantity (+/-)	<u>Unit Price</u>	Amount	
21E	TRAFFIC MARKINGS LINES, 6"	5 LF	\$1.40	\$7.00 \$7.00	
REDUCTIONS:					
1R	BREAKAWAY BARRICADE	-10 UN	\$0.01	\$0.10	
4R	CONSTRUCTION SIGNS	-118 SF	\$15.00	\$1,770.00	
5R	TRAFFIC DIRECTOR, FLAGGER	-52.7448334 HR	\$120.00	\$6,329.38	
6R	FUEL PRICE ADJUSTMENT	-1 HR	\$2,618.05	\$2,618.05	
7R	ASPHALT PRICE ADJUSTMENT	-1 HR	\$1,173.16	\$1,173.16	
8R	HMA MILLING, 3" OR LESS	-498 SY	\$4.00	\$1,992.00	
9R	TACK COAT	-1190 GAI	\$0.01	\$11.90	
11R	HOT MIX ASPHALT PAVEMENT REPAIR, IF & WHERE DIRECTED	-300 SY	\$0.01	\$3.00	
12R	RESET MANHOLE, USING EXISTING CASTING	-2 UN	\$300.00	\$600.00	
14R	RESET INLET, TYPE 'B', USING NEW CASTING	-2 UN	\$1,400.00	\$2,800.00	
16R	HOT MIX ASPHALT DRIVEWAY, 4" THICK	-100 SY	\$50.00	\$5,000.00	

Form SA-1 11/2002

### NEW JERSEY DEPARTMENT OF TRANSPORTATION

#### STATE AID PROJECTS

#### **CHANGE ORDER NUMBER - 2 FINAL**

Division of Local Aid and Economic Development

Project Municipality County Contractor		FY' 2024 NJDOT TRUS' TOWNSHIP OF FLORE BURLINGTON BLACK ROCK ENTER	ENCE		BROAD STR	EET			
20R	TRAFFIC	STRIPES, 4"			-161 LF	, ,	\$0.94		\$151.34
22R	TRAFFIC	TRAFFIC MARKINGS LINES 24"			-22 LI	5	\$5.61		\$123.42
24R	BICYCLE SAFE GRATE				-4 UI	١ \$3	75.00		\$1,500.00
25R	25R REGULATORY AND WARNING SIGN				-25 SI	\$	49.50		\$1,237.50
26R	RESET W	ATER VALVE BOX			-2 UI	N \$3	50.00		\$100.00
27R	RESET GA	AS VALVE BOX			-2 U	N \$	50.00		\$100.00
28R	TREE RE	MOVAL, 18" TO 24"			-1 U	N \$3,0	00.00		\$3,000.00 \$28,509.85
SUPPLE	EMENTALS:								\$0.00
Amount of Original Contract		\$255,539.10		Ex	tra		\$7.00	\$0.00	
Change Order #1			\$11,156.25		Supplemental			0	
Adjusted Amount Based on Change Order #2 Final		\$238,192.50		Reduction Total Change			8,509.85 8,502.85		
% Change in Contract [(-) Decreuse]			-11.15%						
(Engineer)  (Presiding Officer)  Augustus Lale  (Contractor)		·	5/12/2025 (Date) (Date)	Approved:		gra Signa	(Date)		